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'ﬁ)az%bZ'E@ ?

evew: (3/8
2
Simplhy 1 —K = (X220~
0 T Aax*_3x-2 (2')(-\-1)(}/2/)

O @
@ ol
Vol ——
@Sm) o\l excduded Values: 3 +5’)¢ 2
?‘\‘“0 & 3x®45x £R=0
olve, z -
ox” xbx & C O'x- _bim

0:5, b-—s) C':"%

20
b?. _L‘a(_cs)z_t\ (3)(_%) =25Y96:-\21 X = -S ;_\(’;I)Z_‘

—51\\ , el
* % 6 ,)(_—S"'\\

’;5_ —lb
6

May 24, 2018



May 24, 2018

%m?\c“%:
2x% «x =6 yZax -3
ex® —Sx Y x*-1

M(m&) ) (=3)
MM g~ 1)

_ x £
xX—\

S N\?\(‘G:

BXZ-Xx , £x*+x -1

—

6xZ 5% \ x5 -5x -2
| N
67(1"’(\57( 6')(2 A X ’-1 @
xewt)  BeS)A-5) o

sxloeg) @ LR —
iS(Z)ﬁ-‘D s




May 24, 2018

Stepiv §4
3
X~ =YX 5X
% x3x 42 XE3AxT2
X 4% 45 CoxE X
’)Cz' 4 dx +2_ ?(2._\_3)(_\_2_
i Xt _\ x
(% +d) et X+ |
S\’m?\(g-‘t
X _ 3
x& g xB-x-2
X (X +1) 3(x +2)

(2 )(7(-23(?(-\1)‘U (% -2)(x+1)(x+2)

pxad) —3xx2)  olAx-3x—6
(x2)(x-2)X + 1) (xx)(x-(x+1)
- —
LD

) 2 —2x -6
(X +2)(%-2) (x+1)




May 24, 2018

S\"m‘?\\'xn‘.
A I R
Yo X 413 X+

xXx6

3 (x+6)
(x+3)(Xx+6)

g 4 o)
(% -\—’5)('x+l>)XJ (x4 6)(x+3)

_A-x-R-3xA%
(x+3)(xtH)

-Tx-2L
QD (x+b)

. (3)
M\?ﬂ-&)

_ 9 4(x+3) —3(X+b)

(% +3)(x +6)
LD

Ssm?\(% ;
?

xE-4

3(x-2) _

3
xX+2

X
x-2

*

?

——

X (X422

o) (x2)(eD

X (x+2) ¥3(X=2) —§ _ XH2x+3X-b

(x-2(X '\'?Y

% XK

(x-2)(x+2)

’><f'\
X -\-2.

(’X-ﬂ )(%\2_;_
Cx<2)x +2)

(x -2)(x +2)

O ()a2)




May 24, 2018

Covv\?\ex ¥'-\r*a.c‘\‘\‘ovl, ' I+ s o Smc'\‘\‘ow that

Contauns at \east owne Smc‘\‘\‘on.

4 - 3\ _4
> , 5 2z X
S 3 ] -
10 X
xx5 X
xX-2 X4
%
X EYx-12

To Reavte/SimP\({:U Cow\P\ex gmc'\‘fov’\./
Ofind LD o5 all Aevowinators

@ MuWipiy e.\mr\(\\‘kw\g by LD,

@ SM\?\(H, Sfmp\{g‘{ ,av\a\ Simp\(g‘a
2




May 24, 2018

S\W\?\\'Q\A
q
%——7? - ')(.9(_)(.;(_ : Z_ Y )
1-2& x1-%% %-2
5 X
Lep: X 3 L"*’MA N )
%\mP\\'Q\G 1 +_"7_\(_..%- xz.l_\_xz.'%._j(z.%
- 25 25
1 = 1-x*- 'Xz'-,)—f,_
LepsX- )
X~ tMx-5
* o
Lersyx -1)
T (x¥8)(x-5)
(L
x5




May 24, 2018

Sth\\‘?\é:

> _ Y4

3

L= =(¥2).
X2 _ ) 25 »)4
a2 ) S g Y

L= ('Y-\'Z)

) 4 (x+2)
2+ XX

i 3—Lk-x-% -
xAR

3
6+ 25— -6 +%z,é./ix-

x 1 T x L
LeD= § X
4Ex +24
2x* +X

24 (%<1}

X (xsr)
29
X




May 24, 2018

SO\\I \‘{\a ?D:hoﬂo\‘ E‘T\)O\"'\'oy\s .
OSind LD & a\\ excluded \alves

> Mu\-\c?\\s ever\zs‘\%\w\j \0\3 Loy o cleay
al Svactions.
@ Solve the wew e}\'a\‘\“ou.

@ On\¥ KQQF thoce answers thal ove nat
exduded Voalwes.

Selve
04 x-1 _ 1

2 3
LMD =6, EN.: Nowe

3/6.%_%@-%:6.1 %‘*‘%
3x —2(x-1=6

3% —2x x2=b

X +2=56

x=9]




May 24, 2018




May 24, 2018

AR T

L= (xet)(x-4)  EM: Y

L _ (et 2L
Ot S SO 2= e

4 (x-4) +2(x+4) =2% é7<~29<—_82
Yy =
HX~16 42X +3=8X
6x —%=2x =2 el
So\\le,

] T =
x-4 " \ 2 ;\
+4) ) )

mﬂ) vy 1Y) = -9
-1}

S O S IR

x© 5% +4=0
x4 M x +1)=0

\< . )| g )
Pt

x=-1

10



May 24, 2018

So\\le,:

X N X . X
Xexx -2 x -1 3N+ 2

\

x l X j: X ﬂ
(1) (x+2) \-\ (x+1)r-1 (x+2)(x +1)

LCD= (e-1)(x+2)(x+1)  ENS 1-2-1

X(x4t) + x(x+2) =X x-1)

@\wc AxE £2X @—X ByZEP,
=R

xZ 43x +x =0 —

yax?;iu\;:oo y-9.08

1"



